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GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING -~ SEMESTER - 111 « EXAMINATION - WINTER 2016

Subject Name: Surveying and Leveling

Time: 10:30 AM TO 01:00 PM
Instructions:
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Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Answer any seven out of ten. £2HIl SlEULL Ulcloll et W,
Define leveling.

daeale(l catuvaul a1l

Define GTS Bench mark.

% 3l AU A HL ofl catvaul W
Write short note on Line of collimation.
UHIARGL UL UR &5 olltl GAW,
Define Representative Fraction.

A0 uyalils(RF)sll caval .
Define back sight

As AB2e(l cautvul W,

Define Ranging.

WERWEL ofl cautvaal L.

State tie line.

2l el el

Write short note on local attraction.
s wsHEL UR &5 olltl vl
What is Contour?

AHLRAU UL AeA ¢

State magnetic meridian.

Noaldls AZSl2uet Al

Differentiate between W.C.B and R.B.
Yalgd AL Aol gute AL aRA dglelc wl.

OR
Differentiate between true meridian and arbitrary meridian.

g A3 atet Al wRo23] ASl2Aot A dglelct AL

Calculate back bearing of line AB if fore bearing of line AB is 60c. If F.B of
AB and AC are 290° and 60¢ respectively, find angle BAC.

%l AB of 9l AZ[2L 60- &2t Al AB of Ut Aol Ul % vl AB
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Al AC otl 3L ARl AaisA 2900 AUl 60- &l A WEll BAC 0.

OR
Differentiate between Fore bearing and Back bearing.

WL AL e ul Aol A dslald wl.
Write short note on Dip of magnetic needle.
Slu g NolaAdls ollset UR &5 ol Aull.

OR
Write short note on Declination.

Sscflatatet UR &5 ollu cudl.
Convert the following R.B to W.C.B: i) S35°45°E ii) N 45°15’W
o(lAsll gute AR Yelgd Aol sedl.
i) S35°45°E ii) N 45°15°W
OR
Convert the following W.C.B to R.B: 1) 135°45” ii) 305°15’

o(lAatl Yalgct Adtal gcute Aol ted.
i) 135045” ii) 305215

Differentiate between check line and base line.

A5 ALBeL Wl KB LBl AR dslald AL

OR
State characteristics of an ideal scale.

uLe Wttt oMl wrul.
Write short note on reciprocal ranging.
URlel AURWEL UR &5 ol cudl.

OR
Differentiate between plane surveying and Geodetic surveying.

A2 ATl dul euiet ATl dA dstad vl
Explain the principles of surveying.
ydelotl Rtaidl Al
OR
Write short note on 1) location sketch 2) closing error

&5 ol AWl 1)A32el AU 2) sclloflol ARR

The length of a survey line measured with 30 m chain was found to be 610m.
If the true length of the line is 612.5m, calculate the true length of the chain.

A5 U ofl dets 30l Aet a3 MUl 104l U8, uUisne(l il

dolleSoll LAl 5 A Aseto(l Ul dets sa.uHl sl

OR
Write short note on testing and adjustment of chain.

USN of 220U dal A%l UR &5 ol cAul.

What are the uses of contour map?
AR dlell GuBLAL sl

OR
Explain the characteristic of contour.
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AR duilefl clat@ls ARl AHestal.
Define the following term i) Fore sight ii) Level Line.
o{lAotl UElo(l caltuaal ;1) SR ABe 2) Add Aol

OR
Write short note on Height of instruments.

Loz g BN UR &5 olll Wl

Following consecutive readings were taken with dumpy level. 1.155, 1.565,
2.695, 3.580, 2.085, 3.990. Level was shifted after 4" reading. Calculate
RLs of all points. Apply usual checks. First reading was taken on B.M of R.L
=100.0m

sl Aot o olA yHdlell sMs ciuottsl AatHl el B, 1.155,
1.565, 2.695, 3.580, 2.085, 3.990. Al clidells Ul AdA ol WASCAHL
WAA &d. wl gl ofl Gue WAL olul a2 dlow Anal.
yaH didelis 100.0Hl oll dcdRis uR dly &d.

Explain Temporary adjustment of Dumpy level.

Aacott ouHl wHLRCset ULl

Write short note on open cross staff.

vl 2g UR &5 ol cull

Give conventional sign/symbol for the following:
Telephone pole, railway line, gate, survey station, R.C.C, wire fencing

ol Aotl HIS Astl Wl Yol wL,

AlSlot Wt , 2AA cAlget, e, Acatnl etet, R Al A, cR
$lot

State full forms of following abbreviations:

B.S, G.T.S, D.P.C, R.L, G.L, CP

ol Aol g5l AR HIZ AL ollH .
B.S, G.T.S, D.P.C, RL, G.L, CP
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